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-O.04 0.04
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.O.06
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0.02 NQ (8-shot), EM
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0.12 0.12 0.20 0.20 0.22 0.24 0.01

CNN/DM, ROUGE-L

0.20 0.23 0.24 0.28 0.21 0.24 0.14 0.18 0.27 0.45 - SelfCheckGPT, MAX

0.06 0.02 0.20 0.14 0.39 0.42 0.67 0.66 0.64 0.08 TriviaQA (8-shot), EM

0.09 0.13 0.19 0.14 0.18 0.15 0.27 0.06 0.09 0.18 0.31 0.15 IFEval, Prompt-Level Accuracy

0.24 0.26 0.24 0.23 0.20 0.23 0.39 041 0.39 0.26 0.28 0.26 TruthfulQA MC1, Accuracy

0.08 0.05 0.18 0.15 0.23 0.32 0.35 031 0.31 0.16 0.13

0.12 SQuADv2, EM

0.80 mwa! 0.20 0.18 0.19

0.16 0.16 CNN/DM, factKB

0.60 0.58 0.40 0.40 - XSum, BERT-P

0.46 0.48 0.36 Y, CNN/DM, BERT-P

0.50 0.50 0.49

HaluEval Summarization, EM

0.47 0.47 0.49

0.30 0.28 0.38 RACE, Accuracy

0.42 0.46 0.38 TruthfulQA MC2, Accuracy

0.50 0.47 0.46 HaluEval QA, EM

0.50 0.47 0.46

HaluEval QA, Accuracy

0.86 0.83 0.56 MemoTrap, Accuracy

0.50 0.47

HaluEval Dialog, Accuracy

0.50 0.47
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True-False, Accuracy
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HaluEval Summarization, Accuracy



